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01/04/11 ro_5igrt55527 35.ppp_defaut+1d-15

619936 s: Mdev= 0.29578E-14 Tdev= 1059 ps
309968 s: Mdev= 0.24469E-14 Tdev= 438 ps
154984 s: Mdev= 0.33865E-14 Tdev= 303 ps
77492 s: Mdev= 0.31171E-14 Tdev= 139 ps
38746 s: Mdev= 0.36344E-14 Tdev= 81 ps
19373 s: Mdev= 0.60100E-14 Tdev= 67 ps
9686 s: Mdev= 0.87052E-14 Tdev= 49 ps
4843 s: Mdev= 0.13969E-13 Tdev= 39 ps

2422 s: Mdev= 0.26930E-13 Tdev= 38 ps
1211 s: Mdev= 0.49365E-13 Tdev= 35 ps
605 s: Mdev= 0.10135E-12 Tdev= 35 ps
303 s: Mdev= 0.26051E-12 Tdev= 46 ps
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